\

(4%

FA)

¢mkmA}L $Fﬁﬁfﬁ#i%ﬁi

g PEEX(SFEEE) AR g o= R

_n. A ; i

10

15

20

25|,

1. Define each of the terms below in no more than 30 English words {(50%):

. agency problem
. barriers to entry
. competitive advantage
. differentiation strategy

1

2

3

4

5. management by objectives
6. open system

7. outsourcing

8. product life cycle

9. self-actualization

10. span of control

I1. Read the Gillette case and then answer the following questidns in Eriglish:

1. Do you think Gillette’s program — training foreign ‘college graduates in the United
States and then offering them jobs in their home countries — would work for
McDonald’s? Why or why not? (25%) '

2. Would this program be equally successful if Taiwanese companies tried it with
graduates from Southeast Asia countries? Explain. (25%) . .

RECRUITING FOREIGN TALENT THE GILLETTE WAY

Gillette, the venerable Boston establishment founded by King C Gillette in
1901, now operates in 56 countries around the world. It is this diversity of
worldwide markets that has become one of the biggest challenges facing the company.
As traditional markets in the United States and Europ'e became saturated with Gillette
products — including razors and razor blades, electric shavers, toothbrushes, and
writing implements — the large markets of mainland Asia and Latin America became a
logical next target for growth.

The problem was that even though Gillette executives possessed long-term
experience marketing products in the industrial West, they had little knowledge of the
market habits of Asians or Latin Americans. As Giilette pursued its expansion, it
quickly became clear that the company would need to work with local talent.

Consequéntiy, Gillette developed a program to take top university graduates
from the Far East and Latin America and place them in an intensive executive training
course. For this program, Gillette’s recruiters pick young, aggressive graduates from
such countries as Mexico, Columbia, Japan, and Singapore. Those chosen must
have both a willingness to travel and a mastery of the English language. They
receive a stipend of $1000 per month, along with housing expenses, medical
insurance, vacations, and bonuses for meeting performance goals. The 18-month
program teaches these new management recruits company pohcy and helps them
develop their business skills in a practical setting.
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country, Buring this initial phase, the trainees develop a base of experience in the
local business setting, under the leadership of Gillette executives. This phase of the
program will help them become more productive in the latter stages of their training.
At that time, the students are instructed in the company’s overall strategies and are
able to envision how the macro policies reflect on their home division’s work.

After their local training, students are transferred to the company headquarters
in Boston. While in the United States, trainees are paired with a mentor in their
specialty field. These mentors are Gillette executives from one of five business
areas: sales, personnel, marketing, manufacturing, or finance. The students receive
technical guidance from these seasoned veterans and are exposed to a heavy dose of
Gillette’s corporate culture.  Monthly seminars teach them such topics as
communication skills and how to dress appropriately for business, all with the goal of
helping the trainees fit smoothly into the company’s organization.

Gillette has seen great success in this recru:tment of young foreign talent: 90
percent of the tramees gd on to work for the company ! This is an impressive statistic,
considering that the skills these graduates possess are also highly valued by other
companies in their home countries. Thus for, 113 people have gradua‘ted1 from the
program, 60, or 53 :pe'rcen't, of whom still work for Gillette. Another 25 students
from such countries as Russia, Poland, and China are currently in the training
program.

Gillette has also found the program to be very cost effective. The company
spends between $20,000 and $25,000 a year on each traince. If Gillette concentrated
on recruiting experienced expatriate businesspersons instead, it would have to spend
five to ten times as much.  Furthermore, the new Gillette-trained managers fit well
into the corporate structure and show great promise for becoming future leaders.
Most important of all, they have been able to increase Gillette’s presence in

unfamiliar markets.
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Please show your calculations and circle your answers.

1.  Given the regression results from a statistics package:

THE REGRESSION EQUATION IS
C4 =164+ 0879 C6

ST. DEV.
COLUMN COEFFICIENT OF COFF.
Constant 16.4087 0.2842
Co 0.87885 0.04004
S =0.6109
R-SQUARED = 92.7 PERCENT
ANALYSIS OF VARIANCE
DUE TO DF SS  MS=8S/DF
REGRESSION 1 179.79 179.79
RESIDUAL 38 14.18 0.37

TOTAL - 39 193.98

(a) Do an F-test to see if the model is significant at 0.05 level. State the hypothesis, the
decision rule; the value of the test statistic and the conclusion. (10%)

(b) What does R-SQUARED 92 7 PERCENT mean’? (5%)

2. Given the following results from a statistics package: (as a continuation of 1 2

THE REGRESSION EQUATION IS
C4=13.1+0.574 C6+0.0523 C7

ST. DEV.
COLUMN COEFFICIENT QF COEF,
Constant 13.1438 - 0.8907
C6 0.57385 0.08710
C7 0.05227 0.01372

S=0. 524:
R-SQUARED =94.7 PERCENT
R-SQUARED = 94.5 PERCENT, ADJUSTED FOR D.F.
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ANALYSIS OF VARIANCE

DUE TO DF SS MS=SS/DF
REGRESSION 2 183.790 91.895
RESIDUAL 37 10.185 0.275
TOTAL 39 193.975

(a) Do a hypothesis test at 0.05 significance level to see if the coefficients of C6 and C7 are
both zero. State the hypothesis, the decision rule, the value of the test statistic and the
cenelusion. (10%)

(b) U_:.e the information in 1. to find the coefficient of partial determination between C4 and
C7 given that C6 is already in the model. What does this information mean?(10%)

(¢) Do a hypothesis test at 0.05 significance level to see if we should use model in 1 or 2.
(10%)

3. Afinm developing a new soft drink conducted an experiment to study consurmer preferences
for the color of the drink. Four colors were under consideration: colorless, pink, orange, and lime
green. Twenty test localities were selected that were similar in marketing condition. Each color
was randomly assigned to five of these localities for test marketing. The following table shows
the number of cases sold per 1000 population during the study period.

Colorless Pink Orange  Green.  Total

1 26.5 312 27.9 30.8
2 28.7 283 25.1 29.6
3 25.1 30.8 28.5 324
4 29.1 279 242 31.7
5 272 - 296 26.5 32.8

Total 136.0 147.8 132.2 157.3 573.9

(a) Let Y indicate the number-of cases sold per 1000 population. To test if the mean number
of cases sold for each color is equal, analysis of variance (AN OVA) is usually applied.
What assumptions are required in ANOVA? (5%)

(b) Please do necessary calculations to set up an ANOVA table: ( 10%)

Source S8 df. MS
Treatment '
Eror
Total
(¢} Test whether the mean numbers of cases sold for each color are all equal at 0.05

significance level. State the hypothesis, the decision rule, the value of the test statistic and.
the conclusion. (1 O%
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5. 4. Forty-two persons who were seriously overweight weie randomly assigiied to one of two 15
weight reduction regimens, with 21 assigned to each regimen. During the study period, one
- person in regimen 2 moved out of town. All other persons remained in the study. At the end of the
study period, the weight losses were ascertained. The data on weight losses (in kilograms) follow:
I Regimen 1 . A
L 152 144 163 136 11.7 102 126 143 '16.7 13.0
17.0 117 129 144 142 145 148 127 151 111 100
i Regimen 2 - ‘ ;
100 162 186 126 179 182 200 173 183 197 151 " ]10
163 : 168 155 205 167 164 148 183 166 179
(a) Aissume that the two 'pofJulations (of weight reduction regimens) are normal. Test whether
[ the two population variapces' are equal at %ﬂ;% significance level. State the hypothesis, the -
Y S decision rule, the value of the test statistic and the conclusion. (10%) 1
(b) Assume that the two populations are normal and have equal variances. Test whether the
- mean weight loss for regimen 2 exceeds that for regimen 1 at 0.05 significance level. State
151 the hypothesis, the decision rule, the value of the test statistic and the conclusion. (10%) 115
(c) Assume that the two populations are norinal and have equal variances. Find a 90%
i confidence interval for the difference in the mean weight losses. (10%)
204, 420
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